|

Scale | 10

22 [GT5009-13 bottle 1 |a1/2 plastic |white

21 |LS-0501605-B screw 2 M5 L16

20 |V235 screw nut 1 [M24x15 304

19 [GT5004-06 gasket 1 [#5Lx®24.5x15 304

18 |PDP-500265200 rubber ring 1 |#50x926.5x2 rubber |black

17 |0XQ-464420-WJ 0 ring 1 |pL6.Lxb.2 dingging black

16 [V238 base 1 850 304 brushed

15 |GT5009-05 connection pipe 1 [M24x15 304 brushed

14 |GT5009-08 sleeve 1 [M16x1.25 PP white

13 |GT5009-10 connective pipe 1 |#6.5x95.5x185 plastic |white

12 |GT5009-04 underneath shell 1 M12x1 304

11 |0XQ-123210-WJ 0 ring 1 [812.3x2.1 dingging |black

10 |GT5009-01 shell 1 M16x1.25 304

9 |GT5009-1 ball 1 |#6 glass  |transparent

8 [GT5009-12 spring 1 |42 304

7 [GT5009-03 centibar 1 M8 304

6 [0XQ-120200-WJ 0 ring 2 |@12x2 silicone |white

5 [GT5009-09 sleeve 1 810 PP white

4 [GT5009-06 screw nuf 1 M16x1.25 304

3 [0XQ-092180-WJ 0 ring 1 |99.2x1.8 silione |white

2 [GT5009-07 core piece 1 |9L8 304

1 [GT5009-02 pump head 1 M8 304 brushed

NO Parts models Name of parts | QTY| Specifications |Material|Remarks
Series name Drawing people |[Stronge Zeng|inspector | Norman Yang
Customer number Factory number | GT5009 | date 2013-10-12
Product name Soap dispenser Editions | (

Gefftai Sanitary Products (o, Ltd




